SUMMER MATH PACKET

Ms. Freeman's Class

Rising 6th Grade
June-August, 2023

Name

Dear Students and Families -

This packet provides a range of activities that review the math skills we learned this
past year. Students should look through the entire packet to see what topics are
covered and that examples are provided for each section. (You can also review skills
online with the video links we used in class.) Complete 2 pages each week (front and
back of one page) in order to complete the packet by the first day of school. DO NOT
WAIT UNTIL AUGUST to start! This should be a gentle review of skills to prepare you
for a smooth start when we return in the Fall.

Parent signature: Date:






"Name

18. 448 + 1.75 + 80.3 =

i
P 8

Adding and Subtracting Declmals

Review

Find 1.7 + 2.45. Find 36 57 4.6.
Line up the decimal points. Line up the decimal polnts
| 1 t 5
1.7 1.7 0 — Write zeros to 36.57 3@' ,‘5’7 Write zeros to
4+ 2.45 -+ 2.45  show place value. —- 4.6 — 4,60 —« show place value.
4.15 31.87
4 Place decimal point 4 Place decimal point
in answer. In answer.
Find each sum or difference.
\ 1
1. 2.656 2. 1418 3. 744 4, 9
+13.30 - 3.05 + 86.2 ' —0.6
5. 8.97 6. 100 i 6.8 g. 0.5
+66 = 0.22 +237.29 ' —0.2
9.154 — 8= 10, 3 — 2.54 =

1. 134 + 4.4 =

12. 133.01 — 5.6 =

14. 12.3 + 0.61 + 100 =

15, On the 3- days of their vacation, the Davis family
traveled 417 mi, 45.3 mi, and 366.9 mi. How far

did they travel all together? .

16. Etta bought a calculator for $15. Glenn found the"
same model for $9.79. How much more did E‘cta.

pay than Glenn did?
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Multiplying with Decimals

Name ’ £ .
Rt_mew

4

Find 4.3 X 2.7.

with whole numbers.

Multiply as you would Count the number of decimal places in both factors.
The total is the number of decimal places in the product.

2

4.3 4.3 = 1 decimal place
xX2.7 X 2.7 = + 1 decimal place
301 11.61 = 2 decimal places
860

1161

Find each product. |

1. 14 2. 1.8 3. 0.4 4, 0.05
X 8.8 X .9 X83.2 X 0.8
{12 :

1120

5 2.15 6 3.3 7. 0.51 8 1.35
X.8.53 X0.12 X 4.2 X 13

9.23%X 047 = 10. 0.9 ><'5 = 11, 168 X 2.25 =

14. 4.9 X 0.3 =

42, 0.8 % 0.1 = 18. 20 X 20.2 =

15. A roll of paper towels contained 250 sheets,

Each sheet was 8.75 inches lang. How long was the roll?

16. Tania bought 3 new sweaters. Each sold for $1 9.‘99.

How much did she spend?

> '
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"Name

Dividing with Decimals

'Find 36.8 + 16.
¥ Place the deolmal point. 2.3
2. : 2 1 6]3 6.8
16)36.8  ~ Think: 20040 —-32 Multiply 2 X 16.
4 8  Subtract Bring down 8.
Try 2 In the guotient. -4 8 Multiply 3 X 16.
0  Subtract.

Find each guotient.

1. 6T‘— 2. 6)131.4
it

i

Rill
all

5.7)6.69.2 ' 6.280263.2

9. 269.12 + 8 =

i1. 2,220.62 + 46 =,

8. A photographer bought 36 rolls of film for $136.44.

What was the price of one roll?

3.90141.8 4,5)388.5

7. 41)274.7 8.7)34.23

10. 311.56 +4 =

12. 1,449.09 + 81 =

14. Four students each ran 100 m in 4 400-mn relay.race. . o
The team’s total time was 49.44 sec. Find the average

time of each runner.

© Scatt Foresmen.Addlson Wesley 6
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i Name

Review

Interpreting Data

600

The bar graph shows the lengths
in miles of the Great Lakes. Lengths 400
of bars represent lengths of lakes. E anp
. ; ﬁ’ 200
Which is the shortest Great Lake? 5
00—
The shortest lake is Lake Ontario. 1DSulor Mian Hn Orlo
' Lake
Use the graphs to answer eaech question.
1. How many archers scored 4 bull's eyes? Arcgery Resulis
x X X
X X X X
X X X X X X

2. What was the most common number
of bull’s-eyes scored?

Number of Houses Sold

! 40
5 30 i
£ 20 7R
= ;
. 10 . i
1 ©
Jan Feb Mar Apr May Jun Jul Aug
Month

[

5. Which grades ralsed about the same
amount for the school book drive?

- 6. The sthool’s goal was to r.éisé $1,500.
About how much did they raise in all?

0 1.2 38 4 5 6
Number of Bull's-eyes Scored

3. In which month were the most houses
sold”?

4. In which.month were about the same
number sold as were sold in August?

Dollars ($)
g w
Q

School Book Fund Drive

-
Grade

sth

\%ﬁ)

'D)J
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Name ",

Geometric ldeas

e A line is a straight path of points
that goes on forever intwo,_, ‘ \
directions. Examples: AS,.GK. o, g

R 91

/
) ) . H
o Arayis a part of a line with B ©C F\K N P

one endpoint, extending forever s . g
in only one direction. E
Examples: FD, FB. D ;

o Aline segment s part of a line
with two endpoints. : ¥
Examples: CF, MQ.

o A midpoint is the point halfway
between the endpoints of a line
segment. Example: Paint L ig halfway
between points J and M or JM.

» Congruent line segmenté are line segments that have the same length.

Example: QR is congruent to.ST. -

¢ Parallel lipes are in the sa%g plane but do not intersect.
Example: AS is parallel to BT,

Use the diagram.at-the right. Name the fellowing,

1. three line segments

2. two parallel lines

-
3. two lines that Intersect DT

4. two congruent line segments

>
5. two lines perpendicular to BR

6. two midpoints of line segments




Name S :
. e . ‘ . . o - .. n .
Measuring and Drawing Angles o
i How to measure an angle: t How to draw an angle: il
[ : Step 1 Place the protractor’s center on the angle’s | Draw an angle of 52°.
| ¢ vertex.

Step 1 Draw aray.

Step 2 Place the 0° mark on one slde of the
- angle. Step 2 Place the protractor’s center on the
i endpolnt. Line up the ray with the 0° mark.

Step 3 Using the scale with the 0° mark, place a
point at 62°, '

Step 4 Draw the other ray.

LMN = 60°

Step 3 Use the scals beginning with thie 0° mark ' ; b
to read the measurement where the other side of
the andle crosses the protractor.

ZABC = 52°

* Classlfy each dangle as écute, right, ebtuse, or straight. Then measure the angle.
: 8 ‘ , 2.

Draw an angle with each measure,
3. 45° 4. 120°
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Name ' a ]
'- Review

e
g et T
H <
o ermen e mp—
i -

12. Meg practiced the [ﬁlan_ij:_fo_rﬁi2 hr. She did homework
for'% hr: How mueh longer did she do homework than

. 10 j:
Adding and Subtracting Fractions T
2 1
z Find 3+% Find 15
!
' 3[(8) @ [12[15] Multiples of 3 2] 8 [12[16[2g| Multiples of 4
. (6)|12]18|24]30| Multiples of 6 5 |10]15|@0| 25| Multiples of 5
', The least common denominatoris 6. | The least common denominator is 20.
i | Write equivalent fractions. % = % Write equivalent fractions. —1— = 2—50
! [ | _1_4
Add. + B8 _Subtract. 5= 50
. 5 1
; 6 20
Find each sum or dEfference.
- 1,2_ 1_5_ 1.4
i 4 12
1 i
: '
.
' 3.2 _ 15 _ 1,1 _ i1
4.7+7= 5912 B.3+3= .35~ ——
; 3_1_ 3,38 _ 1,.2_ 2 1.
| 8.876 9r+35=—— 10.5+5=— M.3-3=

© Scott Foresman Addison Wesley 6
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‘Name

- Adding Mixed Numbers

To add mixed numbers, you can add the fractional parts to the whole
number parts, and then simplify.

Find22 + 8. Find 82 + 43 Find 4 + 82,
The fractions have a Write equivalent fractions Add the whole humbers;
commeon denominator. with the LCD. then add the fraction.
Add the fractions. Then 2 6
add the whole numbers. £ = G 4
4 4l = 4g 8%
il - BT,
+3 % : . 7 3
= Add the‘whole numbers. 5
) Add the fractions.
5 4 Simplify if possible.
| 6
. 3 9
1
Ao
)
¥}
7 9

LT Sy T e o T e B eyt L e e

Find each sum. Simplify your answer.

1. 24 + 28 = 2, 42 +1%=
Gelede . G T¥Bg=

7. In 2001, the men’s indoor pole vault record was 204 ft
The women’s record for the indoor pole vault was 155 ft.

What is the combined height of the two records?

8. Writing in Math How highis a stack of library books if one book
is 13 in. high, the second bookis 1 8 in.high, and the third is

2.1 in. high? Explain how you solved this problem.
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Name *_-

and the other welghed 2% Ib. Find the differénce in weights.

Review - :',
| | 12 |
Subtracting Mixed Numbers el
5 : o
Subtract 3§ — 25
Write equivalent fractions. Subtract the fractions. Subtract the whole
: numbers. Simplify.
2 _ o4 2 _ 4 2_q4
Y I 1_51 —ol_sl
3 8 _ 41
The LCD of 3 and 6 is 6. ,6 6~ 2
Find each difference. Simplify.
1 5 . 1 2 2 5
8z = 81 23 = 2% 83 65
1. ? 135 2, ‘:’ ? 3 S 4. ?
~2%5=2%5 ~5=Ts ~ 23 — 23
7 7. 3 5
e 5 37 B
| 5. 12 6. g 7. ;‘ 8 *13
=15 ~ 2% ~ % ~ 18
2 _41_ : 3_42_
9. 23 17 = 10. 47 — 45 =
ol 42 4 52 _
P R A i
13. 85 — 25 =_ 14.. 53— 2g =

- 16. Greg found two rodks for his colléction. One welghed 4 b

©
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Multlplymg Fractlons .

R 5-2

Fmd ><

pne Way

Draw a-ptciure. Simplify if
possible,

6 of the 28 squares have
ovetlapping shading.
so, 3x2=18
477 28
6 453
Simplify 28 tog 7

Another Way

Muliiply the numerators
and denominators,
Simplify if possible.

&
28

|

o -h- @ o

X
JR2
AxX7

E -JN‘JIN

1l

Simplify First

Find the GCF of any
numerator and any
denominator.

The GCF of 2and 4 is 2.

~ Divide 2 and 4 by the GCF.

=3

= 14

o Re
R ISES

Find each product. Simplify if possible.

3.

(AT
|

X

oo

4.

5. £ X

|
Il

ol

6.

7. Number Sense Can you simplify before multiplying 14 ><

o|;
X
a3~

o=
X

0|~
Il

il

? Explain.
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Multlplylng Mlxed Numbers |

How to find the product of two mixed numbers:

Find 3% X 4.

Step 1
Estimate by rounding.

2 .
3

1\:[—»

y

Then write each mixed
number as an Improper
fraction. .

pe— @

20

X

3% X 4
Lo
3 X2

1. 22 x 31 =
3, 6x3%=

5. 4% X 16 =

Step 2
Look for common
factors and simplify.
8

" "Find each product. Simplify if possible.

]

2. 25 X2

o=
w|ha

I

4. 1

(3,183

X3

NI

1
6. 15 x25=

Step 3

Multiply. Write the product
as a mixed number.

H,8_383_ 461
y X =3 =18

1
167 is close to 20, so the
answer |s reasonable.

7. Number Sense Is 2 X 17§ greater than or less than 367 Explain.

R 5:4

\@.
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Name.

Units of Length

foot (ft) 1ft=12In.

yard (yd) 1yd=3ft
1yd=36In.

mile (mi) 1.mi = 5,280 ft
1 mi= 1,760 yd

Customary Measurement

Units of Capacity
cup (c) 1 ¢ = 8 fluid ounces (02)
pint (pt) 1pt=2c¢

quart(g) Tqt=2pt

gallon (gal) 1 gal =4qt

How to change from one unit of measurement to another:

To change from larger units to smaller
units in the customary system, you have
to multiply.

To change from smaller units to larger
ones, you have to divide.

256 0z = c

1c=8o0z
256 +~ 8 = 32
256 0z =32 ¢C

120yd = ft

1yd =31t

120 X 3 ft = 360 ft

120 yd = 360 ft

Complete.

1. 368N = . ft
3. 5lb= 0z
5. 15mi=___ ft
7. 2T = b
9. B4oz = b

11. 4 gal = pt

13. 6.51b = oz

15. 4.5qt = c

2 4qgt=___- o
4, 39 ft= yd
6. 3.5gal = qt
8. 16 pt = qt
10. 3yd = in.
12. 55yd = it
14, 20pt=____ gal
16. 205yd = ft

-17. Reasoning A vendor at a festival sells soup for $1' .25 per cup or

$3.75 per quart. Which is the better buy?

® Pearson Education, Inc. 6
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Perimeter

Perimeter is the distance around a shape.

Review

16 f

You can add the lengths of all the sides
or you can multiply the sum of the
length and the width by 2 to find the
perimeter of a rectangle.

25 in.

ain.

p=25in. +9in.+25in,+ 9 in. =68 In.
orp =2 X (25in. + 9in.) = 68 in.

If only one side of a figure Is given,
“then all sides have the same length.

bcm

p=5cm+5cm+6cm+ 5cm=20cm
orp =4X5cm=20cm

1. Find the perimeter of the rectangle.

2. Find the perimeter of the square.

8 m 3 ln_.
6 m_
p=___+__+__+__=__mMm p = X = in. .D
Find the perimeter of each'figure.
3. it 8 i am b5 6.
4.5 yd
3 ft 4m ‘
12in. .
7% 1. 8. 240m ) 5in. 10. 8m
27 in. - .
. 1 oocml .. [12cm 41‘0 X .
14 om a7 '

11. A flower garden is in the shape of an equilateral triangle.

5 3
% _ © Scott Foresman Addison Wesley 6

Each side measures 15% ft. What is the garden’s petimeter?
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-Name L

R 10-8

Area of Squares and Rectangles

You can use formulas to find the area of a square or rectangle.
Find the area of a square that is7.2mon Find the area of a rectangle with a length

each side. () of 4 em and a width (w) of 12 cm.
Use the formula A = s2, Use the formula A = /. X w.

A= (722 A=4x12

A =51.84 A=48
The areais 51.84 m2. The area is 48 cm?.

Find the area of each figure.
8 a, 2.

8.3cm

10.4 ft

3.1 1t

8.81t

4,2 km

6.3 km

5. Reasoning What is the length of a réctangie that has

an area of 120 ft2 and a width of 8 ft?

6. Number Sense What is the area of a square that is

12.4 ¢cm on each side?

Q
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Ratio and Proportion

Review

You can use ratios to compare two
quantities.

2 balloons to 3 sticks
You can write ratios as:
words 2103
with a colon 2:3
as a fraction %

A statement that two ratios are equal
is called a proportien.

I

- 1 balloon
2 sticks

_ 2balloons
4 sticks

Write each ratio. Use words, a colon, or a fraction.

1. Write the ratio of squares to circles.

|
000

2. The Computer Glub has 20 dirls
and 15 boys. Write the ratio of girls
to boys in the club. ,

Tell if the ratios form a proportion. Write yes or no.

= 12

FEE 439

Mcn

5

5, 10

o

Complete eag:h table so that all ratios are equal.’

.[3]6] 012 8.

5

21

42| 63 5 (10| . |50

10. The ratio of the width tq the length of a painting is 3 to 7.

If the paint:ng is 42 in. long, how wide is it?

1. The ratio of the number of moons the planet Neptune has to

the number that Saturn has is 4 to 9. Saturn has 18 moons.

- How many moons does Neptune have?

-0
z
g
F
%
<
g
£
8

D5
:
(<]
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o

Fractlons, Declmals, and Percents

R 7-2

Fractions, demmals and percents all name parts ofa
whole. The grid to the right has 72 out of 100 squares

shaded.

72 out of 100 are shaded. As a fraction; that is ;"%
%

As a decimal, that is 0.72. As a percent, that is

Write 40% as a fraction and decimal.
40% =45 = 0.40

The decimal poin’: moves two places to
the left.

Write 0. 47 asa 'fraction and percent.

7
3. 10
5. 16% :
7. 0.04 :

Write 0.3% as a fraction and decimal.
0.3% = {2 = 0.003

The decimal point moves two places to
the left. Fijl in any spaces with zeros.

Write % as a decimal and percent.

You can use a proportion:

3__n_
4 = qo0
4n _ 3800
4 4
n=75

4. 97%

6. 52% e
8. 0.35 :

9. Number Sense Sheila got 87% of the problem correct.

Patrick got 555 100 =5g Correct. Who scored higher?

..........
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Answers and Options
for Further Review

REVIEW 1

1. 201.
5. 198
9. 31 -
11. 279
588
15. 1,206

s

REVIEW 2

1. 15.95
3. 780.2-
5. 74.97
7. 244,09
9. 74
11. 5.44
13, £30.05
15

'REVIEW 3

1. 646
3. 328

2. 615
6. 980

491 oardé

. 829.2 mi

3.
7.
10.
12.
14.
16.

3
1,109 4. 179
564 8. 90
109
221
1,301
2,109

. 11.05

8.4

. 99.78
027

0.46
127.41
112,91

. $5.21

2,408

1,196

5.
1.
.
11.
13.
15.
11.

9,072
39,195
5,940
20,979
440 -
3,620
504 miles

REVIEW 4

I

i

1232

. 1.28

. 17.845

. 2.142

. 1081

. 378

. 404

v 2.187.5 In.

© REVIEW 5

19
83
319
47
58

. 40

102

6. 7,770
8. 74,304
10. 8,800
12. 49,680
14. 640
16. 4,896 Ib

2. 144
4, 0,015
6. 0.396
8. 17.565
10. 4.5
12. 0.088 °
14, 1.47
16. $59.97

2. 66
4, 226
v ©6.35
8. 35
10. 83
12. 145
14. 365

. 19 polnts per game




REVIEW 6 ’ REVIEW 9

)

1. 2.3 2,219 1. intersecting and perpendicular-

3. 15.7 4. 71.7 ; 2. parallel . 3. intersecting
5. 95.6 6. 9.4 4, straight b, obtuse
7. 8.7 8. 4.89 6. acute : 7: right
9. 33.64 10. 77.89 8. obtuse 9. right
11. 48.47 12. 17.89 10. straight 11. acute
13. $3.79 per roll 14. 12.36 sec
' REVIEW 10
REVIEW 7 : _ |
% . A § 1
1. division; 33 teams 1. 12 2. 15
2, addition; 450.25 Ib
3. subtraction; $48.05 3 L 4, 2
4. division; $0.60 per minute 9 7
5. multiplication; $4.74 1 5
5. 5 6. G
REVIEWS - 7. 2 8 2 U
| "8 T o g
| 9 0
! - 9
: | | 9 75 10. 75
| 11.% 12.%hour

1. 2 archers
2. 2 bull’s eyes
3. April : .
4, March .- ' ‘ : :
5. 1stand 6th - ' ; :
6. About $1,600-$1,700 -

@ ©.Scott Foresman » Addlson Wesley &




REVIEW 15

1. 108
3. 300

5.. 10‘0
7. 5,000
9. 104

11. 25,000
13. 6.7

. REVIEW 16

28
8ft |
72.in,
7 In.
20 In.

1
. 46§ﬁ:

k-l o

REVIEW 17

1. 63 in%
3. 72 m?

5. 46.5 cm®

7. 40 in?
9, 4.5 yd?

11. 75,000 yd?

2.5
-I
4, 5
6. 40,000
8. 2,640
10. 4,300

2
12. 13

14. Yes, by 1.2 oz

12

. 9m

. 13.5 yd
. 88 cm
- 48 m:

cooobi

92, 5 ft?
4. 32 In?

1.0
6. 64ft

8. 180 mm?

10, 25 ft2

.

H
¥

REVIEW 18

2

E
1- _3" " 3 3- yeS
4. no 5. yes 6. no
7.[ 3] 6] 912

5 [10[15 [ 20
8.2 6l12] 18
{7 l21]42]63
9. 4| 8{20]40

‘5 |10 |25 | 50
10. 18 in. 11. 8 moons
REVIEW 19
‘ 1 3
1.(?l 2.;5 3.2. 4.7
5. 7g B 7.0:45 8. 0.16°
9. 0.78 10.0.04 11.8 12, 4
13. 3 14. 6.3 145.35 16. 116

17. 40 students

REVIEW 20
8 1
1" 8 2- 4
2
5. 3 6. 1
2 5
9. 3 10. 6

18. 38 problenis

v

1 1
3. 3 4. 5

1 i
7. 6 5 8- 2

3 2
1. 13 12. 7

O

© Scott Foresman « Addlson Weslay 6




Reteaching

Name .
Area of Squares and Rectangles Rics
* You can use formudas fo find the srea of a square of reclengla.
Find the seaof asquara thel s 7.2 mon  Find the area of a rectenpla vith a kength
it el MO0 ) of 4 cm and a vidh () of 12 em.
Uso the formuda A= 5% Usa tha formula A =1 X w.
A= (12 A=qxi2
A=5184 A=4ds
The areais 51,64 mt, The areals 48 cm,
Find the area of sach fgire,
1 2
A3om
1040
2 alh
68.89 cm 82.24 f?
aan
. FETP %
a3kn
| 2646km? 77.44 112
. Ing What ls the kaglh of a reclangle that ha
% O sty raathites BHE
5 0. NumbscSanse Whatls lho aron of a 7 thatls 2
. 124 n’nonueh:ldt?s u{o R M
Uswihasasos. 123

|

Hame LS

R40-2

Metrie Measurement

Changing from one meirdo upit to another:

T o fom adarger unfl lo & smaller
unlt, mi by a powec ol b, .
38L=_x mL’

ARer bs a legar unk than a miiifter, To
chango from Fers lo mUitecs, mufilply,

1L=1,000mL
3.8 X 1,000 = 3,800
3.8L=3,800mL

To changs from asmallerunit lo a larger
upit, divide by a power of fen.

100m= fm

Tha meter ls a stalisrunit than the
Idomeles To changa from malers lo
Idomaters, divide.

1,600 m =1 km
100 + 1000 =01
100 m = 0. ke

1. rhess of & cow

ka cm

Hame Lha most appropriale matric upl fof ¥ach measurement.
2, lenglh of d carot

3, eapacity of a {himble
mL

Complale, .
4459 -Mmc

5 4.sm-$ﬂg__mm
8, 28 cm-gﬂ__mm
1o, suu::h:g__m
2. 5.1km -w___.m

1. o_1eu1.-180_m1.

80 .

16. 9,000 em =

8 Fosmnen Lation, bne. B

. !
13
5. 3450 ML= 3.45 L !

SR, I:: o Ny

9, 70589 =.7_'ﬂ_kg
. ﬁmmglgm_.—-ﬂ
13, 1.780 L-l:@___mt.
15, 4.3mm-__q4'3 km

17, 8,000mg -8,

18. Reasoning |tls recommended Lhal peopla have 1 g of
calefum each day. How many mifiigrams of cakclum Is that?

1,000 mg

Unvablsaoz, 197

J

Fl

== Refeaching

Nome
Customary Measurement L)
UnHs of Length Units of Capacity .
feat {1} 1=12in. cup (c} 1 o= 8 luld ounces (o7)
yudiyd tyd=ail platpy) ipl=20
1yd=3d k. quat(q) Tgt=2pt
mia(m]  {mi=5280R gation gef} Tgal=dqt
1mi=1,760yd

How lo change from one uni of measurement Lo anothar
To changa from bger unlts Lo smathe To changs from smaller Units o larger
unlts In the customary system, youlava  oaey, you have lo divide.
Lo multply. 2oz = c
120yd=——~R ie=Boz

Tgdmak 25848 =22

D5 AN 30N 2580z =82¢

120 yd = 260 H ’

Complaste,

1 !Uh.-.a__-_li -3 4qt-16__n

a, 5[{:-:80 oz 4. 3gn_13 vd

(A |.5m1-1sﬂg_;ﬂ [ s.aml-ﬂ—m

7. 274,000 5 etepn8
. 9, 6doz -__.4 b 0. ayd—.—1 08 In

11, 40l ugg___pl 2 ssyd-.Ln

13, G.Sbuig_q'.__.nz 14. 20p!"2_'5__gl|

15, tS_ql-L_u 16 205yd-l.615—ﬂ

17. Reasonlag Avendor al a fesival seFs soup for $1.25 percup or

$3.76 per quad. Which [s the batter buy?
$3.75 per quart iz, the hetter buy.
116 vawmtenmn o1,
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Reteaching
Neme . .
Measuring and Drawing Angles Rz
How (o measure sit soghst Haw lo deavs mnn anpls:
Step 4 Placa Bha profacier's cotlir on tha sngle’s | Draw an anghe of 52°
T Stop A Dremaray,
Step 2 Pica tha 0° mark en e sidg of e . - " -
‘"‘L wﬁ‘&%ﬂﬁﬁmﬁn&“

St30 8 Uskg ¥ séata with e 8 mark, placa 1
poial sz, .

Glassiy each aingha &S sowia, right, cblusa, of strelghl. Then measure the sngle.,

v

Acuié; 50° .
Draw an angle with sach measure,

2, 45 4. 120"
j \ .

102 vawnu=ors

Straight; 180°

@ Porean B, b, 8
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Reteaching
Neme
Area of Squares and Rectangles Ao
* You ean vsa formidas lo find the area of a square of rectangle.
Find the srea of a squars that W 72mon  Find th arsa of witiakeogth
sach side. ¥ of 4 cm and avidth ) of 12em,
Usaihe formula A = s, Uss tha formua A = [ X w,
A= (720 Am4x12
A=B184 A=48
T aruals 5184 m% The 2rea ks 48cm®
Find tha area of each figurs,
1 2
3an
1040
2 aIn 2
68.89 cm 32.24 ft
[F1}
s [uln g
[ET
' ; 26.46 km? 77.44 t?
B 1 the ength !
| = momsipgees- 188,
HE ?f?:n"::umsh \mmsm.maomqmmm 153.76 cmz
wmmm;1n 123

O Prwrren Lvarten, . {

Reteaching

Nams
Metric Measurement nd02
Changing from one metdo unit {o snsther
To change fromalargecunt lo a smalley Tnnh:nalrmmum-!ermllu alarger
unht, muttlply by a powaerof lin. undt, divide by 8 power of ten.

38L= mb 10dme= fm
A et I= a largar uni than a mEdier To The melor ls a sinalerimft than the

chanpa from Kers fo mitRers, mulipl.
1L=1000mbL
4,8 X 1,000 = 3,800
3.0L=3,800mL

Kiomeler, To change from melers to
ilomelers, divids.

1,000 =1km
100 + 1000 =04
100m= 0.1k

Name tha most appropriale melria unt fer sech maasurement.

1. mass ol acow

2. lengih of # earrol

LA l:.apnchyol alhimble

cm mL

Complale, ] !
4. 459 meg &ﬂSOmL-.s"ii_Lu ;
3 wm-ﬂzégo_mm 7. LsaL-j_LaB_q_mL

8, zam-m—m 9 7,5539-7_-;_658_“

10, uoum‘a-ﬁ___m 1 S.ooom-,ﬁ._w_u

12. 51 km -E&__m 13. 1.780L =1J_@ﬁm

4. n.‘raoL-zg_D_—mL 15 {3mm=Lm

16. 9,000 em = 90 m 1 M?Drra=8—-n

18, Reasoning I Is recommended Ihal peaple hava 1 g of
calclur each day, How many mifgrams o!ca\ﬂum Isthat?

1,000 mg

vivanLzenrez. 117

Reteaching

Hame
Customary Measurement R0
Units of Length Unita of Capacity
fool (1) =120 cupc) ‘-o-amﬂmu[oz’
yad(yd) 1yd=3f pintp1) 1pl=2¢

fyd=38h. quui(q) 1gi=2pl
mis{m)  fmi=5280N gatln(ga) 1gil=4qt

fml= 1,760 yd

How Lo changa from one unit of measurement la another:

To change lrom luger uni(s to smatie
unls n the cuslomary system, you have

To change from smaller unks lo Jarger
ones, you havaio divide.

116 wsmrasente,

tomuiply, 2660z = ]
i20yd = n {e=Boz

1yd=3R 268 + 8 =232

120X IH=3E0R 2560z =320

120 yd = 3804

te.

G:]:):h -.-.3..———!1 2. 441 -.16_.—_.e

3, 6= oz J.flﬂﬂ_.=1____yd
5. 1.5ml-13ﬂ._:ﬂ E. Sﬁmld.L_.qi
T ztug'lg.clg_}!s 8. wps-.a___ql
9. B4nz-4.__.....—m 10. :!yd'-lgL._.h.
11. lgn!-Lpl 12 55yd=jﬁs—n
13, I.Sb-._...-_._._104 [r3 14, 2“pl-.———-—2’5 gl
15, 4.5,qtn.w__._n 16, aus,-d-m.__n

17. Reasoning Avendor al a festival sel's soup lor $1.25 pereup or
$3.75 per quard. Which Is the batter buy?

$3.75 per quart is. the hetter buy.

1 Pramen Comgiam, lre. §

HNams =
Measuring and Drawing Angles %2
How to massure on sughet How o drarv? an azsgles
Stop | Placs ¥ protuctors omder en i anght's Draw en angha of 527,
e Bop tDrwarg
::g:bhunno‘mmma&ﬂln S,Z,H‘"““ T —
mmm'nnyummalmm
Stap 3 sy T schla wih [ 0* mark, plice s
pontatdat, i
Stap 4 Dewyi ¥ checray.

Step a Usa tha seali baghoba wh i 0°
tha meriersod whicd

lariad mm-um
e gl croatas B prodrecion

LABC = 51"

Ou-un'y each angr &a scut, right, nbw.a,on.'-r.k\!:l.'nm measire I'Qil-

£

Acutsg; 650° ,

Deaw an enghe With each measure,
a. 45"

102 vnwtt st

e

Straight; 180°

4. 120*

@ P Bt b, &
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Name

Retedaching

RE-2

h{iu}tiplying Fractions

Find§ %§.

Find each pxod;fl. Simpiitty i poasible,

a, $xi=

5 4xi= o

Dne Wiy " Ancihér Way Simpllty Flist
* Draw & plcdwre. Simpity N Tk | Fivd b GOF of wiy
possble, Pumacaler ard
Pt N e
2 1,2
b 8| e,
b -3 1 .
-4 ¥ ok 2k
1% i
:‘uﬁgau&u&mw
sadxied
- sy o
Wmu.noqulllonfofuchpklw;. T
A g - 111
5 i 2
1 X iy 18

i
R
6 fxge 8

7. Humber Sense Can you slmpllly Befors muliplyng 14 X £§7 Explaln.
No, because there is no common

factor to divide by

Unwunbaensa 65




